Life Science Quiz #1 Study Guide – Answer Key
Name

Date

1. Give the total magnification for the following:

a. (10X) X (4X) =  40 X
b. (10X) X (10X) = 100 X
c. (10X) X (40X) =  400 X
2. List the steps in the scientific method:

a. State the Problem
b. Research the problem
c. State the Hypothesis
d. Design and carry out an experiment (Test the hypothesis)
e. Observations – document and collect data from the experiment
f. Analyze the Data
g. State Your Conclusion
3. State the “problem” in the bean experiment.  What was your hypothesis?

Do beans (seeds) need water to grow?

If seeds receive water, then they will grow.
4. List the basic units for length, volume, mass and temperature in the metric system.

a. length =
Meter
b. volume = Liter
c. mass =
Gram or Kilogram
d. temperature = Degrees Celcius
5. List the steps for making a wet mount slide: (Study the microscope).
1.
Place the object on the glass slide.
2.
Place a drop of water over the object and place a coverslip on top.
3. 
Place the slide and coverslip over the opening on the stage of the microscope.
6. Describe the difference between the independent and dependent variable.

The independent variable (manipulated variable) is the variable being tested in the experiment. 

The dependent variable is the variable being measured, or the responding variable. 
7. What is the difference between an inference and an observation and a prediction?
An observation is based on using our senses to gather information about the world around us.

An inference explains our observations based on our prior knowledge or opinions. 

A prediction involves guessing what will happen next based on our observations.

